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n=50

c_pre=4.5
c=2+3*runif (n)
x=rnorm(n)
z=rbinom(n,1,0.5)
pp=length(c)
p_rand=1000
c_int=seq(0,1,(1/(p_rand-1)))
cc=matrix(0,pp,p_rand)
xx=matrix(0,pp,p_rand)
zz=matrix(0,pp,p_rand)
tt=matrix(0,pp,p_rand)
for (i in 1:p_rand) {
ccl,i]=c

xx[,i]l=x

zz[,il=z

}

for (i in 1:pp) {
tt[i,]=c_int

}

tt=tt*cc
cc=function(t){
cc=exp(-1/2)*exp(0.5*%sin (2*t) *xx+0.5%2z)
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return(cc)

}

cc=cc(tt)

c_len=0.5%(1/p_rand)*c
ccc=cc[,2:(p_rand-1)]
Lam=c_len*(cc[,1]+cc[,p_rand]+2*(apply(ccc,1,sum)))
m=rpois(n,Lam)
N=matrix(c(0),sum(m) ,4)

k=0

for (i in 1:n){

if (m[i]>0){

j=1

b=exp(abs(x[i])*0.5)

while (j<=m[i]){

a=runif (1)*c[i]

u=runif (1)

if (u<=exp(0.5*sin(2*a)*x[i])/b){
N[k+j,1]=i

N[k+j,2]=a

N[k+j,3]=x[i]

N[k+j,4]=z[1i]

j=i+1

}

}

}

N[(k+1): (k+j-1),2]=sort (N[ (k+1): (k+j-1),2])
k=k+m[i]

}

N=N[N[,2]<=c_pre,]

p=nrow (N)

1055t s B e Y

kernel=function(x){
k=0.75%(1-x"2) *(abs(x)<=1)
return(k)

}
10l @ wsly b Sl k) 035 Mg Y

funLocalEqu=function(betal,sub_xt,x,z,gamma,ind,wght){
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d_t=length(wght)

d_x=1 #number of column of x

phi=exp (x*betal+z*gamma)
phil=matrix(phi,length(phi),d_t)*ind
phi2=t (x)%*%phil
ss=apply(phil,2,sum)+10~(-7)
phi3=matrix(ss,d_x,d_t,byrow=T)
grad=(t (sub_xt)-(phi2/phi3))%*jwght
grad2=grad”2

hess=c(0)

for(j in 1:d_x){

X2=X*X

phid=t (x2)%*)phil
hess[j]=((phi4/phi3)-(phi2*matrix(phi2[j,],d_x,d_t))/(phi3~2))%*)wght
}

p=list(grad2,grad,hess)

return(p)

}
10l ) Joawe o b ¢l Aoy 05 S iy

funGlobalEqu=function(gamma,zt,x,z,beta,ind){

d_z=1

d_t=length(zt)

phi=exp (x%*%beta) *matrix (exp(z*gamma) ,length(z) ,d_t)
phil=phi*ind+10~(-7)

phi2=t (z)%*%phil

pp=apply(phil,2,sum)
phi3=matrix(pp,d_z,length(pp) ,byrow=T)

g=t (zt)-phi2/phi3

grad=apply(g,1,sum)

pp=ncol (phi2)

z2=z%z

phid=t (z2)%*)phil

hes= (phi4/phi3)-(phi2*matrix(as.numeric(phi2),d_z,pp))/(phi3~2)
qq=apply(hes,1,sum)

hess=(qq) "2

p=list(grad~2,grad,hess)

return(p)

}
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uu=c(1:100)

u=0.05+0.04*uu #time point

h=0.4 #bandwidth of kermel

u_max=max (u)

u_min=min(u)

d_u=length(u)

t=N[,2]

d_t=length(t)

n=length(x)

d_x=1

d_z=1
indO=(matrix(t,d_u,d_t,byrow=T)-matrix(u,d_u,d_t))/hx*3
kern_indO=kernel (ind0)
sum_kern=apply(kern_ind0,2,sum)+107 (-6)
wghtO=kernel (ind0) /matrix(sum_kern,d_u,d_t,byrow=T)
indd=(matrix(t,n,d_t,byrow=T)<= matrix(c,n,d_t))
ind1l=as.numeric(indd)
ind=matrix(indl,n,d_t)

zt=N[, (d_x+3):(d_x+d_z+2)]

##initial estimator##

beta=function(t){

beta=0.5%cos (2*t-1.75)

return(beta)

}

beta=beta(u)

gamma=gamma0=0.5

##lterative Newton-Raphson algorithm##
EPS = 107(-10)

EPS2 = 107(-3)

maxit = 20

iter =0

while (iter<=maxit){
valid=matrix(c(1),d_u+1,1)

##the solution of the function beta(t)##
for(k in 1:d w{

uk=u [k]

ind_t22=(t>=(uk-h) & t<=(uk+h))

ind_t2=as.numeric(ind_ t22)



ARR

ind_t=which(ind_t2==1)
sub_N=N[ind_t,]
sub_t=sub N[, 2]
d_sub_t=length(sub_t)

h2=h
while (d_sub_t<=6){
h2= h2+ h/3

ind_t33=(t>=(uk-h2) & t<=(uk+h2))
ind_t3=as.numeric(ind_t33)

ind_t=which(ind_t3==1)

sub_N=N[ind_t,]

if (is.vector(sub_N==T)){sub_N=as.matrix(t(sub_N))}
else{sub_N=sub_ N}

sub_t=sub_N[,2]

d_sub_t=length(sub_t)

}

sub_xt=sub_N[,3:(d_x+2)]

wght=kernel ((sub_t-uk)/h2)

sub_ind = ind[,ind_t]

betal=beta [k]
grad_hess=funLocalEqu(betal,sub_xt,x,z,gamma,sub_ind,wght)
o=fl=as.numeric(grad_hess[1])
f2=as.numeric(grad_hess[2])
f3=as.numeric(grad_hess[3])

if (f1<=EPS){valid[k]=f1}

if (is.nan(£3)){delta=-f2/sqrt(f1)}else{
delta=f2/(£3+107(-5))

}

##choosing the step size to find the solution##
tau=1

beta2=betal+taux*delta
grad_hess=funlocalEqu(beta2,sub_xt,x,z,gamma,sub_ind,wght)
f4=as.numeric(grad_hess[1])

while ((£4>=(0-EPS/2)) & tau>=EPS2){

tau=tau/2

beta2=betal+tau*delta
grad_hess=funLocalEqu(beta2,sub_xt,x,z,gamma,sub_ind,wght)
fi=as.numeric(grad_hess[1])

f4=f1
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}

if (tau<=EPS2){

valid[k]=EPS

}

##better iteration point to be found##
betal[k]=betal+tauxdelta

if (£4<=EPS){

valid[k]=f4

}

}

##To find better solution of the parameter gamma##
betax=t (beta)%*/wghtO0
grad_hess=funGlobalEqu(gamma,zt,x,z,betax,ind)
fi=as.numeric(grad_hess[1])

if (£1<=EPS){

valid[d_u+1]=f1

if (apply(valid,2,sum)<=1/2)

{print("zero gradient! the procedure completed successfully!\n")}
else{iter=iter+1}

}

if (is.nan(as.numeric(grad_hess[3])))

{ delta=-(as.numeric(grad_hess[2]))/sqrt(f1)} else {
delta=(as.numeric(grad_hess[2]))/(as.numeric(grad_hess[3])+107(-5))}
##choosing the step to find the solutiion##

tau=1

gamma2=gamma+tauxdelta
grad_hess=funGlobalEqu(gamma2,zt,x,z,betax,ind)
f2=as.numeric(grad_hess[1])

while ((£2>=f1-EPS/2) & tau>=EPS2){

tau=tau/2

gamma2=gamma+tau*delta
grad_hess=funGlobalEqu(gamma?2,zt,x,z,betax,ind)
f2=as.numeric(grad_hess[1])

}

if (tau<=EPS2){

valid[du+1]=EPS

if (sum(valid)<=1/2){print("output, the procedure was successful")}
else {iter=iter+1}

¥
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##better iteration point to be found##

gamma = gamma + tauxdelta

iter = iter + 1

if (iter==maxit+1)

{print ("maximum iterations exceeded.The procedure may be unsuccessful")}

}

kern=function(u _val,h,u,beta){
kern=sum(kernel ((u_val-u)/h)*t(beta))

/ (sum(kernel ((u_val-u)/h))+107(-7))
return(kern)

}
lam_zero=function(n,N,x,z,c,u,h,beta,gamma){
Ev=N[, 2]

u_num=length(u)

u_len=u[2]-u[1]

u2=c(0,u)

u2=t (u2)

A=numeric(length=u_num)

A=t (A)

for (i in 1:u num){

NN2=as.numeric (Ev>=u2[i] & Ev<=u2[i+1])
NN22=which (NN2==1)

N2=N[NN22,]
N2=matrix(t(as.matrix(N2)),length(as.matrix(N2))/4,4,byrow=T)
Ev2=N2[,2]

p2=length (Ev2)

if (p2>0){

for (j in 1:p2){
beta_hat=kern(Ev2[j],h,t(u) ,beta)
phi=exp(beta_hat*x+gamma*z)* (Ev2[j]<=c)
A[i]=A[1]+(1/sum(phi))

}

}

}

A[1]=A[1]/ul1]
A[2:u_num]=A[2:u_num]/u_len

return(A)
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}

se_beta=function(n,N,x,z,c,u,h,beta,gamma){
Ev=N[,2]

u_num=length(u)

u_len=u[2]-u[1]

C=matrix(0,u num,n)

D=numeric(length=u_num)

u2=c(0,u)
Lam_hat=lam_zero(n,N,x,z,c,u,h,beta,gamma)

for (i in 1:u_num){

NN2=as.numeric(Ev>=u2[i] & Ev<=u2[i+1])
NN22=which (NN2==1)

N2=N[NN22,]
N2=matrix(t(as.matrix(N2)),length(as.matrix(N2))/4,4,byrow=T)
Ev2=N2[,2]

p2=length (Ev2)

if (p2>0){

for (j in 1:p2){
beta_hat=kern(Ev2[j],h,t(u) ,beta)
phi=exp(beta_hat*x+gammax*z)* (Ev2[j]<=c)
x_hat=t (x) %*% (phi/sum(phi))
z_hat=t (z)%*’ (phi/sum(phi))
Exx=sum((x-x_hat)*phi*(x-x_hat))+107(-5)
Ezx=sum((z-z_hat)*phi*(x-x_hat))
Ezz=sum((z-z_hat)*phi*(z-z_hat))
D[i]l=D[i]+(1/Exx)*Ezx
lamda_hat=kern(Ev2[j],h,t(u),t(Lam_hat))+10~(-5)
C[i,N2[j,111=C[i,N2[j,11]1+(1/(Exx*lamda_hat))*(N2[j,3]-x_hat)
for (k in 1:n){
Cli,k]=C[i,k]-(1/(Exx*lamda_hat))*(x[k]-x_hat)*phi [k]/sum(phi)
}

}

}

D[i]=D[i]l*(u2[i+1]-u2[i])/p2

}

p=1list (t(C),t(D))

return(p)

}

se_gamma=function(n,d_t,N,x,z,c,u,h,beta,gamma){
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Ev=N[,2]

A=0

B=numeric(length=n)

B=t (B)

for (i in 1:d_t){

beta_hat=kern(Ev[i] ,h,t(u),beta)
phi=exp(beta_hat*x+gammax*z)* (Ev[i]<=c)
x_hat=t (x)%*% (phi/sum(phi))
z_hat=t (z) %*% (phi/sum(phi))
Exx=sum((x-x_hat)*phix*(x-x_hat))+10~(-5)
Ezx=sum((z-z_hat)*phi*(x-x_hat))
Ezz=sum((z-z_hat)*phi*(z-z_hat))

A=A+ (Ezz-Ezx* (1/Exx) *Ezx) /sum(phi)

beta hat=(N[i,4]-z hat)-Ezx*(1/Exx)*(N[i,3]-x_hat)
B[N[i,1]]1=B[N[i,1]]+beta_hat

for(j in 1:n){
beta_hat=(z[j]-z_hat)-Ezx*(1/Exx)*(x[j]-x_hat)
B[jl=B[j]-beta_hat*phi[j]/sum(phi)

}

}

A=1/(A+107(-15))*B

return(A)

}

beta_se=0

gamma_se=0

## gamma_se ##
gam_res=se_gamma(n,d_t,N,x,z,c,u,h,beta,gamma)
gam_res=t(gam_res)

g_res_m=mean(gam_res)

gamma_se=sqrt (sum((gam_res-g_res_m)~2))
## beta_se ##
C_D=se_beta(n,N,x,z,c,u,h,beta,gamma)
d_x=1

C=C_D[1]

D=C_D[2]

Cc=C[[1]]

D=D[[1]]

for (i in 1:d_w{

if(is.nan(D[,i])==T){
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D[,i]=0

}

}

for(i in 1:d_w{

for(j in 1:n){
if(is.nan(C[i,j]1)==T){

Cc[i,jl=0}

}

}

beta_se=numeric(length=d_u)
C[,1]=C[,1]-gam_resx*D[1]
cm=mean(C[,1])
beta_se[1]=sqrt(sum((C[,1]-matrix(cm,n,1))~2))
for(i in 2:d_w){
s=((i-1)*d_x+1):(i*d_x)
C[,s]=C[,s]-gam_res*D[s]
Cl,s]=C[,s]-C[, (s-d_x)]
cm=mean(C[,s])
beta_se[i]=sqrt(sum((C[,s]-matrix(cm,n,1))~2))
}

int_beta=function(u,beta){
u_len=length(u)
A=numeric(length=u_len)

A=t (A)

Al1]=betal[1]*u[1]
A[2:u_len]=betal[2:u_len]*(ul[2]-ul1])
A=cumsum(A)

return(A)

}
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Beta=int_beta(u,beta)

#B=number of iterations

#Beta_i=Estimate of cumulative coefficients in each iterations
# for i=1,...,B , say B=b
betas=matrix(c(Betal,Beta2,Beta_3,Beta_4,Beta_5),d_u,5)
se=vector (length=d_u)

for (i in 1:d_w{

sel[i]=var(Beta_1[i] ,Beta_2[i],Beta_3[i],Beta_4[i],Beta_5[i])
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}

for (j in 1:d_w){

dt=vector(length=B)

for (k in 1:B){

if (abs(betas[i,k]-BetaO[i])<=1.96%*se[i]){dt[k]l=1}else{dt[k]=03}
}

cplil=sum(dt)/B

}
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plot(u,Beta,"type")
lines(u,0.25%(1-cos(2*u)),col="red",type="1")
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